

ex 3 a)  $1^2 + 2^2 + 3^2 + \dots + n^2 = \frac{n(n+1)(2n+1)}{6}$ ,  $\forall n \in \mathbb{N}^*$

Réurrence:

cas  $n=1$ :  $1^2 \stackrel{?}{=} \frac{1(1+1)(2+1)}{6} = \frac{6}{6}$  ✓

H.R:  $1^2 + 2^2 + \dots + m^2 = \frac{m(m+1)(2m+1)}{6}$  pour un certain  $m$

à démo:  $1^2 + 2^2 + \dots + m^2 + (m+1)^2 \stackrel{?}{=} \frac{(m+1)(m+2)(2m+3)}{6}$

de m:  $1^2 + 2^2 + \dots + (m+1)^2$   
 $= 1^2 + 2^2 + \dots + m^2 + (m+1)^2$   
 $= \frac{m(m+1)(2m+1)}{6} + (m+1)^2$  ↓ H.R.  
 $= (m+1) \left[ \frac{m(2m+1)}{6} + (m+1) \right]$  ↓ mise en évidence  
 $= (m+1) \left[ \frac{m(2m+1) + 6(m+1)}{6} \right]$   
 $= \frac{(m+1) [2m^2 + 7m + 6]}{6}$   
 $= \frac{(m+1)(2m+3)(m+2)}{6}$  ↓ factorisation I.R.4+  
 cfd

d)  $3^{2n} + 7 = 8k$  ( $k \in \mathbb{N}$ ),  $\forall n \in \mathbb{N}$

Réurrence:

cas  $n=0$ :  $3^0 + 7 \stackrel{?}{=} 8k \Leftrightarrow 8 \stackrel{?}{=} 8k$ : ✓ pour  $k=1$

H.R:  $3^{2m} + 7 = 8k$  ( $k \in \mathbb{N}$ ) pour un certain  $m \in \mathbb{N}$

à démo:  $3^{2(m+1)} + 7 \stackrel{?}{=} 8 \cdot l$  ( $l \in \mathbb{N}$ )

de m:  $3^{2m+2} + 7 = 3^{2m} \cdot 9 + 7$   
 $= (8k-7) \cdot 9 + 7$  ↓ H.R.  
 $= 8 \cdot k \cdot 9 - 56$   
 $= 8 \cdot (\underbrace{9k-7}_{l \in \mathbb{N}})$   
 cfd

$$\text{Ex 3 b) } 1^3 + 2^3 + \dots + n^3 = \frac{n^2(n+1)^2}{4}, \forall n \in \mathbb{N}^*$$

Récurrance :

$$\text{cas } n=1 : 1^3 \stackrel{?}{=} \frac{1^2(1+1)^2}{4} \checkmark$$

$$\text{H.R. : } 1^3 + 2^3 + \dots + m^3 = \frac{m^2(m+1)^2}{4} \text{ pour un certain } m \in \mathbb{N}^*$$

$$\text{à dév. : } 1^3 + \dots + (m+1)^3 \stackrel{?}{=} \frac{(m+1)^2(m+2)^2}{4}$$

$$\text{dém. : } 1^3 + \dots + m^3 + (m+1)^3$$

$$= \frac{m^2(m+1)^2}{4} + (m+1)^3 \quad \downarrow \text{H.R.}$$

$$= (m+1)^2 \left[ \frac{m^2}{4} + (m+1) \right] \quad \downarrow \text{mise en évidence}$$

$$= (m+1)^2 \left( \frac{m^2 + 4m + 4}{4} \right)$$

$$= \frac{(m+1)^2 (m+2)^2}{4} \quad \downarrow \text{fact.}$$

q.e.d.

$$\text{c) } 1 \cdot 2 + 2 \cdot 3 + 3 \cdot 4 + \dots + n(n+1) = \frac{n(n+1)(n+2)}{3} \quad \forall n \in \mathbb{N}^*$$

Récurrance

$$\text{cas } n=1 : 1 \cdot 2 \stackrel{?}{=} \frac{1 \cdot 2 \cdot 3}{3} \checkmark$$

$$\text{H.R. : } 1 \cdot 2 + 2 \cdot 3 + \dots + m(m+1) = \frac{m(m+1)(m+2)}{3} \text{ pour un certain } m$$

$$\text{à dév. : } 1 \cdot 2 + 2 \cdot 3 + \dots + (m+1)(m+2) \stackrel{?}{=} \frac{(m+1)(m+2)(m+3)}{3}$$

$$\text{dém. : } 1 \cdot 2 + 2 \cdot 3 + \dots + m(m+1) + (m+1)(m+2)$$

$$= \frac{m(m+1)(m+2)}{3} + (m+1)(m+2) \quad \downarrow \text{H.R.}$$

$$= (m+1)(m+2) \left[ \frac{m}{3} + 1 \right] \quad \downarrow \text{mise en ev.}$$

$$= (m+1)(m+2) \frac{(m+3)}{3}$$

q.e.d.

Ex 3 b)  $1^3 + 2^3 + \dots + n^3 = \frac{n^2(n+1)^2}{4}, \forall n \in \mathbb{N}^*$

Réurrence :

cas  $n=1$  :  $1^3 \stackrel{?}{=} \frac{1^2(1+1)^2}{4} \checkmark$

H.R. :  $1^3 + 2^3 + \dots + m^3 = \frac{m^2(m+1)^2}{4}$  pour un certain  $m \in \mathbb{N}^*$

à démo :  $1^3 + \dots + (m+1)^3 \stackrel{?}{=} \frac{(m+1)^2(m+2)^2}{4}$

dém. :  $1^3 + \dots + m^3 + (m+1)^3$   
 $= \frac{m^2(m+1)^2}{4} + (m+1)^3 \quad \downarrow \text{H.R.}$   
 $= (m+1)^2 \left[ \frac{m^2}{4} + (m+1) \right] \quad \downarrow \text{mise en évidence}$   
 $= (m+1)^2 \left( \frac{m^2 + 4m + 4}{4} \right)$   
 $= \frac{(m+1)^2(m+2)^2}{4} \quad \downarrow \text{fact.}$   
q.f.d.

c)  $1 \cdot 2 + 2 \cdot 3 + 3 \cdot 4 + \dots + n(n+1) = \frac{n(n+1)(n+2)}{3} \quad \forall n \in \mathbb{N}^*$

Réurrence

cas  $n=1$  :  $1 \cdot 2 \stackrel{?}{=} \frac{1 \cdot 2 \cdot 3}{3} \checkmark$

H.R. :  $1 \cdot 2 + 2 \cdot 3 + \dots + m(m+1) = \frac{m(m+1)(m+2)}{3}$  pour un certain  $m$

à démo :  $1 \cdot 2 + 2 \cdot 3 + \dots + (m+1)(m+2) \stackrel{?}{=} \frac{(m+1)(m+2)(m+3)}{3}$

dém. :  $1 \cdot 2 + 2 \cdot 3 + \dots + m(m+1) + (m+1)(m+2)$   
 $= \frac{m(m+1)(m+2)}{3} + (m+1)(m+2) \quad \downarrow \text{H.R.}$   
 $= (m+1)(m+2) \left[ \frac{m}{3} + 1 \right] \quad \downarrow \text{mise en ev.}$   
 $= (m+1)(m+2) \frac{(m+3)}{3}$   
q.f.d.